Homework # 2o ( Soluhons?

32.5] = Suppose that "F s closed | £ (An) < F
s Couchy omd liman= X with X& F.

It follours from %DIDOIOJ/'C&«/ de.,[’. 0{ lim't that

¥E€20 Ve nF= Ve )NF-1x})# B, s0

X must be a limit point of F, Since F [S closed

XeE | whith is a confradiction with x¢ F

Thus , i f (4n) < F 15 fm@ and lim an= X= Kef.

& If X is ay limit point of F , then
I ) cF anxX VN and liman=X = XeF
b(‘} the assumphon. Thus F is closed

42.3) () Let m be an arbitrary limit p,o/mf

of L. Then dhere exrsis S@Q/b_mﬁie (@n) <L,
o # m , lrm b = Mo Since Ty , {n i
o It POI'YLT '0.[ A 3 Qn €A St An E(V%\(&l).‘{enl)
We can also choose an # m (since €n #nh).

Then  lim[an-m 5|(wn(lan— €nl+len—ml)=0+0

= liman =m and m s also o |imit point

of A Thus me L , Stnee L (S the set of

imit points of A Thus L is closed.

l )

) Let now X be a limt point of AVL
then there (S @ Segme nce (an, [‘m Xn =X,

(Xn) CAUL , Xn# X, There is' a subsequena (Xny)
of (Xn) st. (Xn,) 05 completely in A

or (Xng) 1s comlb{cr’eldc/ in L,

Ir (k) < A 2 X is a limit point of A= xel

If ()l = X ds a it p+. of L= XEL1ys)
=) Xe€ L= X¢€ AUL, f 7 ’




@)e(x € (&)ﬁ/\l’i)%ﬁ (x § Y
< (xe(E2)€ por all AeN )& (xeqﬂ/\ef )
(xe (N & )} (xkn6) =

A€ A AEN
(there is 2eds t. x& Ea) e (Hhere is e st =

X€ LX)
<) (Xé q(é/\gAC ) A

3.2.9
U Ea)e (x€E; fr al ren)

(b)- Let F; 1<l<n be closed sets then
FS are open sets

Set ('[/FL')C = FC s open , $o LU‘FL' is closed
L=t L=1 -

v Let Fy o AeA be closed seds | then
Fi~oare optn sets

C
et ( N F;\) = U FAC 'S open , 5o / F;\ (S Closed
AEA AEA AEA




